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Five persons M,N,O,P and Z have different 

designations like Manager , PO, SO, Clerk and 

Peon in a Bank. The order of seniority is the 

same as given above i.e., Manger is the senior-

most designation and Peon is the junior-most 

designation. Each person has different number 

of bank checks– 19, 23, 35, 39 and 51 but not 

necessarily in the same order. O is junior to P. 

The one who has 39 Bank checks is just senior 

to Z . The one who has prime number of pens 

is not the senior most person . Atleast three 

designations senior to P. N is junior to the one 

who has 39 bank checks. The difference 

between the bank checks of Z and O is 4. P has 

12 bank checks more than M.

एक बैंक में प ांच व्यक्तियों M,N,O,P और Z के 

अलग-अलग पदन म हैं जैसे मैनेजर, पीओ, एसओ, 

क्लकक और चपर सी । वररष्ठत  क  क्रम वही ह ैजो ऊपर 

क्तदय  गय  ह ैय नी, मांगर सबसे वररष्ठ पद ह ैऔर 

चपर सी सबसे कक्तनष्ठ पदन म ह।ै प्रत्येक व्यक्ति के प स 

अलग-अलग सांख्य  में बैंक चेक हैं- 19, 23, 35, 39 

और 51 लेक्तकन जरूरी नहीं क्तक इसी क्रम में हों। O, P 

से कक्तनष्ठ ह।ै क्तजसके प स 39 बैंक चेक हैं, वह Z से 

ठीक वररष्ठ ह।ै क्तजसके प स अभ ज्य सांख्य  में पेन हैं वह 

सबसे वररष्ठ व्यक्ति नहीं हैं। पी से वररष्ठ कम से कम तीन

पदन म हैं। N उस व्यक्ति से कक्तनष्ठ ह ैक्तजसके प स 39 

बैंक चेक हैं। Z और O के बैंक चेक के बीच क  अांतर 

4 ह।ै P के प स M से 12 बैंक चेक अक्तिक हैं
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Five persons M,N,O,P and Z have different 

designations like Manager , PO, SO, Peon and 

Clerk in a Bank. The order of seniority is the 

same as given above i.e., Manger is the senior-

most designation and Peon is the junior-most 

designation. Each person has different number 

of bank checks– 19, 23, 35, 39 and 51 but not 

necessarily in the same order. O is junior to P. 

The one who has 39 Bank checks is just senior 

to Z . The one who has prime number of pens 

is not the senior most person . Atleast three 

designations senior to P. N is junior to the one 

who has 39 bank checks. The difference 

between the bank checks of Z and O is 4. P has 

12 bank checks more than M.
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A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U &

Which of the following element is sixth to the left of the fourteenth from the 

left end of the given arrangement? 

क्तनम्नक्तलक्तित में से कौन स  तत्व दी गई व्यवस्थ  में ब एां छोर से चौदहवें के ब एां से छठ  ह?ै

(a) 6 (b) % (c) $ (d) M (e) None of these
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A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U &

If all the symbols are dropped from the series, which element will be twelfth 

from the right end? 

यक्तद श्रांिल  से सभी प्रतीकों को हट  क्तदय  ज ए, तो कौन स  तत्व द यें छोर से ब रहव ां होग ?

(a) 9 (b) Q (c) R (d) Y (e) None of these 
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A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U &

How many such numbers are there in the given series which are immediately 

preceded by a symbol and followed by a letter?

दी गई श्ांिल  में ऐसी क्तकतनी सांख्य एां हैं क्तजनके ठीक पहले एक क्तचन्ह और ठीक पहले एक 

अक्षर ह?ै

(a) None (b) One (c) Two (d) Three (e) Four
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A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 R % O G @ 2 I B 2 U &

How many such letters are there in the given series which are immediately 

preceded by number and immediately followed by a symbol? 

दी गई श्ांिल  में ऐसे क्तकतने अक्षर हैं क्तजनके ठीक पहले एक सांख्य  और ठीक ब द एक प्रतीक 

ह?ै

(a) One (b) Two (c) Three (d) More than three (e) None of 

these
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In the word ‘PRODUCS’, how many pairs of the letters have the 

same number of letters between them in the given word as they have 

in the English alphabet series? 

शब्द 'PRODUCS' में, अक्षरों के क्तकतने यगु्मों के बीच क्तदए गए शब्द में अक्षरों की 

सांख्य  उतनी ही ह ैक्तजतनी अांग्रेजी वर्कम ल  श्रांिल  में ह?ै 

(a) Four (b) Two (c) One (d) Three (e) More than four



IBPS / BANK / LIC / SBI at 9:00 AM

Statements: 

A ≥ B ≥ C = D > E ≤ F < G 

Conclusions: 

I. E < B 

II. G > E 
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Statements: 

P ≤ R ≤ T = U  ≤ S ≥ V 

Conclusions: 

I. U > P

II. P < T
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Statements: 

L > M ≤M ≥ S ≥ T 

Conclusions: 

I. T ≤W

II. W < T
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In a certain code a number MASTER is written as 143923 . How is 

FATHER written in that code ?

एक निनित कोड में एक सखं्या MASTER को 143923 के रूप में निखा जाता है। उस 

कोड में FATHER को कैसे निखा जाता है?

(A) 72823

(B) 34623

(C) 45378

(D) 92783

(E) 54321
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In a certain code a number RUN is written as 2 . How is TOY written in 

that code ?

एक निनित कोड में एक सखं्या RUN को 2 के रूप में निखा जाता है। उस कोड में TOY

को कैसे निखा जाता है?

(A) 3

(B) 2

(C) 4

(D) 9

(E) 0
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‘Royal Monarch Regal’ is written as @ # *,
‘Regal legacy Gold’ is written as * % ?,
‘Hope Gold Life’ is written as % & $,
‘Regal Monarch Morals’ is written as # * ∀

Q. What will be the code for “Regal” / का कोड क्या होगा?

1.%
2.*
3.$
4.#
5.?
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Statements: 

Some Ball are Garden. 

All Garden are Trade. 

Only a few Trade are Pump. 

Conclusions: 

I. Some Ball are Pump. 

II. Some Garden can be Pump.

कथन: 

कुछ बॉल ग र्कन हैं. 

सभी ग र्कन टे्रर् हैं. 

केवल कुछ टे्रर् पम्प हैं। 

क्तनष्कर्क: 

I. कुछ बॉल पांप हैं। 

II. कुछ ग र्कन पांप हो सकते हैं.
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Statements: 

Some Ball are Garden. 

All Garden are Trade. 

Only a few Trade are Pump. 

Conclusions: 

I. Some Ball are Pump. 

II. Some Garden can be Pump.
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Statements: 

No Market is Home. 

Only a few Home are Room. 

Only a few Room is Vance. 

Conclusions: 

I. Some Home are Vance. 

II. Some Market can never be 

Room. 

कथन: 

कोई ब ज र घर नहीं ह।ै 

केवल कुछ होम रूम हैं। 

केवल कुछ रूम वेंस हैं। 

क्तनष्कर्क: 

I. कुछ होम वांस हैं। 

II. कुछ म केट कभी रूम नहीं हो 

सकते हैं।
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Statements: 

No Market is Home. 

Only a few Home are Room. 

Only a few Room is Vance. 

Conclusions: 

I. Some Home are Vance. 

II. Some Market can never be 

Room. 
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Statements: 

No Party is Gathering. 

All Summary are Gathering. 

Only a few Gathering are 

Committee. 

Conclusions: 

I. Some Committee can be 

Summary. 

II. Some Party can be Committee. 

कथन: 

कोई प टी नहीं हो रही ह।ै 

सभी समरी गैदररांग हैं। 

केवल कुछ गैदररांग कक्तमटी हैं। 

क्तनष्कर्क: 

I. कुछ सक्तमक्तत स र ांश हो सकत  ह।ै 

II. कुछ प टी कक्तमटी हो सकती हैं।
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Statements: 

No Party is Gathering. 

All Summary are Gathering. 

Only a few Gathering are 

Committee. 

Conclusions: 

I. Some Committee can be 

Summary. 

II. Some Party can be Committee. 
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Statements: 

All Chocolate are Toffee. 

No Toffee is Muffin. 

Only a few Muffin are Dark. 

Conclusions: 

I. No Chocolate is Muffin. 

II. Some Toffee can never be Dark. 

कथन: 

सभी चॉकलेट टॉफी हैं। 

कोई टॉफी मक्तफन नहीं ह।ै 

केवल कुछ मक्तफन र् कक  हैं। 

क्तनष्कर्क: 

I. कोई चॉकलेट मक्तफन नहीं ह।ै 

II. कुछ टॉफी कभी र् कक नहीं हो 

सकती हैं।
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Statements: 

All Chocolate are Toffee. 

No Toffee is Muffin. 

Only a few Muffin are Dark. 

Conclusions: 

I. No Chocolate is Muffin. 

II. Some Toffee can never be Dark. 
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There are seven persons - A, B, C, D, E, F ,G and H. They are 

going market to purchase some items. Only Three persons reach 

before D. E reach before F and G but F is not the last person. G 

reached before F. A reach before C but after D. C is not the last 

person. H is the last person.

स त व्यक्ति हैं - A, B, C, D, E, F, G और H । वे कुछ वस्तओु ां को िरीदने के 

क्तलए ब ज र ज  रह ेहैं। केवल तीन व्यक्ति D से पहले पह ांचत ेहैं। E, F और G से 

पहले पह ांचत  ह ैलेक्तकन F अांक्ततम व्यक्ति नहीं ह।ै G, F से पहले पह ांच । A, C से 

पहले पह ांचत  ह ैलेक्तकन D के ब द। C अांक्ततम व्यक्ति नहीं ह।ैH अांक्ततम व्यक्ति ह।ै
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There are seven persons - A, B, C, D, E, F and G. They are going 

market to purchase some items. Only Three persons reach before 

D. E reach before F and G but F is not the last person. G reached 

before F. A reach before C but after D. C is not the last person.
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Eight persons are sitting around a circular table facing to the center but not 

necessarily in the same order. Two persons sit between Q and P. R sits 

immediate to the right of Q. One person sits between R and S, who faces to 

T. Q and T are not immediate neighbors of each other. W sits 2nd to the left 

of V. Three persons sit between U and V.

आठ व्यक्ति एक वरत्त क र मेज के च रों ओर कें द्र की ओर मिु करके बैठे हैं, लेक्तकन जरूरी नहीं

क्तक इसी क्रम में हों। Q और P के मध्य दो व्यक्ति बैठे हैं । R, Q के ठीक द यें बैठ  ह।ै R और S 

के बीच एक व्यक्ति बैठ  ह,ै क्तजसक  मिु T की ओर ह।ै Q और T एक दसूरे के क्तनकटतम 

पर्ोसी नहीं हैं। W, V के ब यें से दसूरे स्थ न पर बैठ  ह।ै U और V के बीच तीन व्यक्ति बैठे हैं।
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Eight persons are sitting around a 

circular table facing to the center 

but not necessarily in the same 

order. Two persons sit between 

Q and P. R sits immediate to the 

right of Q. One person sits 

between R and S, who faces to T. 

Q and T are not immediate 

neighbors of each other. W sits 

2nd to the left of V. Three 

persons sit between U and V.
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Seven persons are working in the same 

company on different designations. The person 

working on that designation is named P, Q, R, 

S, T, U, and V but not necessarily in the same 

order. They have different designations starting 

from the clerk, officer, Assistant Manager, 

manager, Assistant General manager, General 

manager, and Director. Director is the topmost 

post of the company and the clerk is the 

lowermost post of the company. Only four 

persons sit between P and Q. P is not working 

at a position of officer nor as a clerk. There are 

two designations between R and S. R is senior 

to S. R is a General manager or Director. More 

than two designations are there between T and 

U. U is working as a designation of clerk in the 

company.

स त व्यक्ति एक ही कां पनी में क्तवक्तभन्न पदन मों पर क म 

कर रह ेहैं। उस पद पर क म करने व ले व्यक्ति क  न म P, 

Q, R, S, T, U और V ह ैलेक्तकन जरूरी नहीं क्तक इसी 

क्रम में हो। उनके प स क्लकक , अक्तिक री, सह यक 

प्रबांिक, प्रबांिक, सह यक मह प्रबांिक, मह प्रबांिक और 

क्तनदशेक से शरुू होने व ले अलग-अलग पद हैं। क्तनदशेक 

कां पनी क  सवोच्च पद होत  ह ैऔर क्लकक  कां पनी क  

सबसे क्तनचल  पद होत  ह।ै P और Q के बीच केवल च र 

व्यक्ति बैठे हैं। P न तो अक्तिक री के पद पर और न ही 

क्लकक  के रूप में क यक कर रह  ह।ै R और S के बीच दो 

पद हैं। R, S से वररष्ठ ह।ै R एक मह प्रबांिक य  क्तनदशेक 

ह।ै T और U के बीच दो से अक्तिक पद हैं। U कां पनी में 

क्लकक  के पद पर क यकरत ह।ै
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Seven persons are working in the same 

company on different designations. The person 

working on that designation is named P, Q, R, 

S, T, U, and V but not necessarily in the same 

order. They have different designations starting 

from the clerk, officer, Assistant Manager, 

manager, Assistant General manager, General 

manager, and Director. Director is the topmost 

post of the company and the clerk is the 

lowermost post of the company. Only four 

persons sit between P and Q. P is not working 

at a position of officer nor as a clerk. There are 

two designations between R and S. R is senior 

to S. R is a General manager or Director. More 

than two designations are there between T and 

U. U is working as a designation of clerk in the 

company.
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Eight persons lives in a building having four 

floors where ground floor is numbered as 1, the 

floor just above it is numbered as 2 and so on 

till the topmost floor which is numbered as 4. 

Each floor is having two flats i.e., Flat-A and 

flat-B. Flat-A of floor-2 is exactly above the 

flat-A of floor-1 and exactly below the flat-A of 

floor-3 and so on. Flat-B is in east of flat-A.

No one lives below P. Only two floors gap is 

there between P and J. P and J lives on different 

flats. M lives exactly towards the east of N. R 

lives immediately below N. R and N lives on 

same flat. D lives above O and below K. K lives 

on flat-A.

आठ व्यक्ति च र मांक्तजलों व ली एक इम रत में रहते हैं जह ाँ 

सबसे क्तनचली मांक्तजल की सांख्य  1 ह,ै उसके ठीक ऊपर व ली 

मांक्तजल की सांख्य  2 ह ैऔर इसी क्रम में आगे बढ़ते ह ए सबसे 

क्तनचली मांक्तजल की सांख्य  4 ह।ै प्रत्येक मांक्तजल में दो फ़्लैट, 

अथ कत फ़्लैट-A और फ्लैट-B हैं। मांक्तजल-2 क  फ्लैट-A, 

मांक्तजल-1 के फ्लैट-A के ठीक ऊपर ह ैऔर मांक्तजल-3 के 

फ्लैट-A के ठेक नीचे ह।ै फ्लैट-B, फ्लैट-A के पवूक में ह।ै

P से नीचे कोई नहीं रहत  ह।ै P और J के बीच में केवल दो 

मांक्तजलों क  अांतर ह।ै P और J अलग-अलग फ्लैटों पर रहत  

ह।ै M, N के ठीक पवूक में रहत  ह।ै R, N के ठीक नीचे रहत  

ह।ै R और N एक ही फ्लैट में रहते ह।ै D, O से ऊपर और K 

से नीचे रहत  ह।ै K फ्लैट-A में रहत  ह।ै
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Eight persons lives in a building having four 

floors where ground floor is numbered as 1, the 

floor just above it is numbered as 2 and so on 

till the topmost floor which is numbered as 4. 

Each floor is having two flats i.e., Flat-A and 

flat-B. Flat-A of floor-2 is exactly above the 

flat-A of floor-1 and exactly below the flat-A of 

floor-3 and so on. Flat-B is in east of flat-A.

No one lives below P. Only two floors gap is 

there between P and J. P and J lives on different 

flats. M lives exactly towards the east of N. R 

lives immediately below N. R and N lives on 

same flat. D lives above O and below K. K lives 

on flat-A.



IBPS / BANK / LIC / SBI at 9:00 AM

A certain number of persons are sitting in the row. All of them are facing 

towards north. Q sits sixth from the right of S. T sits forth to left of Q. Only 

two persons sit between Q and P. R sits forth to the left of S. U sits between 

S and T. V sits second to the right of U. W is third from any of the end. S is 

eight from the left end of the row. Six persons sit between W and V.

एक क्तनक्तित सांख्य  में व्यक्ति पांक्ति में बैठे हैं। उन सभी क  मिु उत्तर की ओर ह।ै Q, S के द यें

से छठे स्थ न पर बैठत  ह।ै T, Q के ब यें से आगे बैठत  ह।ै Q और P के बीच केवल दो व्यक्ति 

बैठते हैं। R, S के ब यीं ओर बैठत  ह।ै U, S और T के बीच बैठत ह।ै V, U के द यें से दसूरे 

स्थ न पर बैठत  ह।ै W क्तकसी भी छोर से तीसरे स्थ न पर ह।ै S पांक्ति के ब एां छोर से आठव ां ह।ै 

W और V के मध्य छह व्यक्ति बैठे हैं।


